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Important Instructions:
f 39 questions in 5 sections. e
ons, A student!

i. This question paper consists 0
n internal choice is provided in some ques ti

ii. All questions are compulsory. However, @

expected to attempt only one of these questions.
questions carrying 1 mark each. _
to these questions should

iii. Section A consists of 20 objective type

iv. Section B consists of 6 Very Short questions carrying 02 marks each. Answers
be in the range of 30 to 50 words.

v Section C consists of 7 Short Answer
should in the range of 50 to 80 words
vi. Section D consists of 3 Long Answer

should be in the range of 80 to 120 words.
vii. Section E consists of 3 source-based/case-based anits of assessment of 04 ma

SECTION-A(20x 1= 20)
n out of the four options given for each of the questions 1to 20 -
1

ying 03 marks each. Answers to these questions

type questions carr
rs to these questions

ns carrying 05 marks each. Answe

type questio
rks each with sub-parts.

Select one most appropriate optio

AAydrochloric acid turns phenolphthalein solution
(a) Pink (b) Yellow (c) Colourless (d) Orange
“Non-Metallic oxide are generally _____innature. 1
(a) Acidic (b) Basic (c) Neutral (d) Amphoteric
1

d parent base of salt (NH,),COs.

ZJ/de'ntify the parent acid an
H,CO; and NH,OH (c) NH,OH and H,COs (d) H,CO, and NH,CI

(a) NH; and H,CO; (b)
1

Mu‘ch of the following substances has the lowest PH value.

(a) Sugar (b) Tomato juice (c) Vinegar (d) Washing Soda

" What substance is obtained by heating limestone in absence of air? 1
(a) CaOCl, (b) Ca (OH): (c) CaO (d) CaCO,
%aqueous solution turns the red litmus solution blue. Excess addition of which of the following '-
»lutions would reverse the change?
)Baking powder (b) NH,OH (c)Lime : (d)HClacid 1
Which one of the given is true, if 2 substance has a pH value of 4?
) The substance is a base (b) The substance is an acid

(d) Either (A) or (B) 1

The substance is a neutral substance :
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eroblc resplration in humans a
a .

SWhich row in the table below shows the correc product of an
“yeast respectively -

1

YEAST
HUMANS HUMANS YEAST | Id
# | bon dioxideé
Lactic Acld Carbon dioxide | LacticAcid %l sinidnepaid it
' X
A # v X 1
B v X X __M‘f,_,-—« =
L S - ——— s —— / b e arer— x
C X v / v o
D v v / .
r 1
A. Which of the following statements s correct aboyt receptors?
a) Gustatory receptors detect taste while olfactory receptors detect smell
b) Gustatory and Auditory receptors detect smell and taste respectively
¢) Auditory receptors detect smell and olfactory receptors detect taste
d) Olfactory receptors detect taste and gustatory receptors smell
10/Column 1 Column 2 1
1)Hypothalamus i)Salivation and vomiting
2) Pons il\Walking in a straight line
3) Medulla iii)Controlling temperature or hunger
4) Cerebellum iv)Breathing
a) 1-iv 2-iii 3-i) 4-ii b) 1-iii 2-iv 3-ii) 4-i
c) 1-iii 2-iv 3-i) 4-ii d) 1-iii 2-iv 3-i) 4-iii
Which of the following statements are false about plant hormones? 1
i) Different plant hormones help to coordinate growth, development and responses to the
environment. .
ii) They are synthesised at places away from where they act and simply diffuse to the area of action

iii) Auxins synthesised at the shoot tip, helps the cells to grow longer.

iv) Auxin stimulates the cells to grow longer on the side of the shoot which is facing light
a)i&iv b)ii & iii
c) Only iv) d) Only iii)

12. Identify the picture given alongside and write
a characteristic feature of this structure.

1’3.B/oth the spherical mirror &a thin spherical
lens have a focal length of -15 cm . What type of mjrror & Lens are theiss

(a) Both are convex ‘(b) Both are concave 1
(c) Concave mirror & convex Lens (d) Convex mirror & concaye Lens
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# student arranged an electric circm "

e would observe
(a) no reading in either the ammeter or the voltmeter
(b) no reading in the voltmeter but a finite reading in the ammeter
(c) no reading in the ammeter but a finite reading in the voltmeter
(d) a finite reading in both the ammeter and the voltmeter

“A student sitting on the last bench can read the letters written

on the blackboard but is not able to read the letters written in his textbook. Which of the following
statements is correct? 1

(a) The near point of his eyes has receded away

(b) The near point of his eyes has come closer to him
(c) The far point of his eyes has come closer to him
(d) The far point of his eyes has receded away

16/The image shows the dispersion of the white light in the prism. What will be the 1

¢olours of the X, Y and Z?

(a) X: red; Y: green; Z: violet ek
(b) X: violet; Y: green; Z: red
(c) X: green; Y: violet; Z: red White
(d) X: red; Y: violet; Z: green : e

<N

Q. no 17 to 20 are Assertion - Reasoning based questions.
These consist of two statements - Assertion (A) and Reason (R). Answer these questions selecting the

appropriate option given below:
(a) Both Aand R are true and R is the correct explanation of A

(b) Both A and R are true and R is not the correct explanation of A

(c)Ais true but R is false
(d) A is False but R is true

“Assertion (A) : When HCl is adde
ason (R) : Evolution of agas andch

place.
)ﬁssertion - Brown fumes are produced when lead nitrate is heated.
oduced as a byproduct due to the decom position of lead nitrate. 1

Reason : Nitrogen dioxide gas is pr
]}.Aélertlon: Reflex arcs have evolved in animals because the thinking process of the brain is not

d to zinc granules, a chemical reaction occurs.
ange in colour indicate that the chemical reaction is taking

fast enough. _ _ -
Reason: Even after complex neuron networks have come into existence, reflex arcs continue to be
Went for quick responses. .
‘ i ' i erts electrical energy to chemical energy.
tion: A cell is a device which converts : :
Ty tial difference between its terminals. 1

tains constant poten
GECTION -B(6x2=12)
ions carrying 02 marks each.

re very short answer quest . )
a y taking the example of one organ performing dual functions- both as
2

Reaso « Cell main

0.21t026
21. Explain feedback mechanism

an endocrine and exocrine organ .
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Mﬂlmmrth IpALING I BCVENture sports one gurticular o ons 16 Jof A
hormoue and explaln its action on the b systart i birlef

F*.ﬂ“’# ¥ £

&7 xplain how the translocation of materials iy phlarn tissise it (Anih 1 # T WA

energy.-
 The magnification produced by a lens Is - 0.5 (s this & corarghii of diverging 1ons 7 Fnd P
power of this lens If the focal length of this lens i 40cem
OH
“a)Why does the sky appear dark Instead of tlue to an astronatt! ;
(b) Why doas the sun appear reddish early in the merring? 2
Ta)Find the work done to transfer 1C of charge throtgh 4V battery _ 2_
§ A L rard i pavng tho Ay 1

b) Fing the number of electrons flowing per second in a comaduetor, |
sction a ek, 2

6. Why should a magnesium ribbon be cleaned before bur riinvg i air? Wirte tha ré
SECTION -C (7 % 3= 21)
Q.no. 27 to 33 are short answer questions carrying 03 marks each.

j?f;;loth‘s strip dipped In onlon juice is used for testing a el ‘X and (" The Rephd A changes %5

odour whereas no change in odour is observed in liduid 4
hich type of an Indicator is onion juice?

(e liguid 'Y turns blue litmus red. List the o
the following:
(1+1+7)

(Zﬂin/(a nules /Lﬂr)’Saﬂd sodium carbonate
“An element A reacts with water to forrm a compound & which is used in white washing, The

B on heating forms an oxide C which on treatment with water gives back B, iderdify & &

fseryations the lauid Y will show on reacting, wer

compoun
and Cafd give the reactions involved, (1+1+1)
, Complete the following flow chart as per the given instructions,
(Casirlc ganda prevent I the wal of somads,
Secretions
Y
a b
yFunction
d v {
% = 6§
. An object is placed at 2 distance of 60 cm fropm 3 CONCave lens of focal length 30 cm,

o find the distance of the im

(i) Use lens formulat
istics of the image (nature,

(i) List four character

this case
(ifiy Draw r

pusition, size, erect/inverted) formed by the tens
e fens in

3
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-a) Write the function of each of the following parts of m 3

‘) Cornea (i) Iris (iii) Crystalline lens (iv) Ciliary muscles

b) A person needs a lens of power -4.5 D for correction. Name the defect & find the focal length of
the lepsTsed.

-a)Name the component in an electrical circuit used to ) change the current flowing in circuit
1) measure the current . Draw the circuit symbol of the components identified. iy
b) Awire of length | & resistance R is stretched so that its length is doubled & area of cross sections
halved . How will its resistance & resistivity change in this case?

OR
\ f e gt one
’{.How will you use two identical glass prisms so that a narrow beam of white light incident on
prism emerges out of the second prism as white light? Draw and label the ray diagram.

; ‘ 3
State the cause of dispersion of white light passing through a glass prism.
: ; 3
33. Make a diagram of the unit of excretion and label at least four parts on the diagram.
OR
- Sketch double circulation in mammals showing all the major blood vessels. Why is this type of 2
circulation necessary in higher organisms? on
SECTION-D (3 x 5=15)
Q.no. 34 to 36 are Long answer questions carrying 05.marks each..
| a) Write the balanced equation for the following chemical reactions.
| (i) Hydrogen + Chlorine — Hydrogen chloride
(i) Barium chloride + Aluminium Sulphate — Barium Sulphate + Aluminium Chloride
(iii) Sodium + Water — Sodium hydroxide + Hydrogen
(b) Zn(s) + CuSO,(aq) — ZnSO,(aq) + Cu(s)
Find the substance Oxidised and substance reduced in the reaction 3+2

357 i) Enumerate the three parts into which the hindbrain is divided and explain the important role
of each of these parts in the control and coordination of our body.

ii) Which two parts of the brain are responsible for controlling the amount of hormone produced?

iii) What are the possible consequences of the lack or overproduction of Growth Hormone? (3+1+1)

OR
?4xplain with the aid of an explained diagram onhow a plant growths towards light and the
phenomena seen in this process (both at physical and also at hormonal level) (5)

. a) The refractive index of a medium X wrt medium Y Is2/3 & the refractive index of a medium Y
wrt medium Z is 4/3. Find the refractive index of medllfm Z wrt medium X .
b) Find the distance at which an object should be placed in front of a convex lens of focal length 10

cm to obtain an image of double its size.
OR

36,44) List two causes of hypermetropia. _ s
B) Draw ray diagrams showing (i) a hypermetropic €y€ and (i) its correction using a suitable optical

device.
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cTioN . g (ax3=12) :
E( 3 short sub - PR to observe that in

Q.no to 39 are case - based/data -based ; ith 2 i

“One day Komal saw that her mother W:ziitéz?fngﬁgan _she was i”rprt'?.zgsted. There are sO
spite of the very high temperature the salt does not melt and the p?anu i get. like Bleaching

many important compounds known, which have sgme characterlstlc proper ies <5 sed for mnaking
powder used as a disinfectant, POP used for joinin fractured bones, Baking pow o these
s sake Sl oy el et TPEs o GRSIEER Fes
compounds very useful in our daily routine.

(i) Bleaching powders chemlcalnameis:_ . . &% - -
(i) The ratio of the water molecule in plaster of paris and gyPSs
(ifi) Write a balanced reaction for the Chlor-alkalj process:

g . OR
(iii) List all the important products and their uses from the chlor alkali process?
“The diagram given below is the view of the neuromuscubr
jupetion. Study the same and the following question:
What is the Gap C known as ? What is the substance E released

?’ﬂis gap?
What are the two different types of neurons? Differentiate

/rz(;ween them?
Narme the receptor that detects taste and smell 7

and Y are the two end structures to this complex -How does
(1+1+1+1)

umis _— ————

(1+1+2)

theimpulse travel across this structure ?

“A concave mirror always forms a real and inverted image for different positions of the object. But

if the object is placed between the focus and pole, the image formed is virtual and erect.
A convex mirror always forms a virtual, erect and diminished image. A concave mirror is used as a

doctor's head mirror. The convex mirror is used as a rear view mirror in automobiles because it can

form asmall and erect image of an object.

/l)'l'dai‘:nage shows the path of incident rays to a concave mirror.

Where would the reflected rays meet for theimage formation to take S 5 B ‘\
place? . :
(a) Behind the mirror (b) Between Fand O : e

(d) Beyond C .

(c)B eenC and F : T )
: ys & show the Image formation in the above image

¥ Draw the reflected ra :
of this mirror.

shown . Give any two uses

e an the object, one can use
0og .
i ror
a) convex mirror bu oncave mir .
(c) either a conveX mirror or aconcave m|rr0ro |

(b) a concave mirror but not a convex mirror

t an image larger th
(d) a plane mirror.

tnotac
(1+2+1)

e mirror that .
uy)/Name th rtual image of an object

] | as Vi
ive rea| as we . H
(a)cang : tual image of samessize of an object

(b) will atways BVEVICES e DB e
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